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Carrie out at least one ofthese cakulations
Correctly
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Sports

Correct response

Additional guidance

Shows a correct amount, with units
eg
. £181.99

Shows a correct amount, with units

eg
. £8.02

! Value rounded
In part (a), accept £182 but do not accept
£181 unless a correct value is also seen
In part (b), do not accept £8 unless a correct
value is also seen

! Unis omitted
Penalise only the first such occurrence

Reference to money left over
Accept the correct change shown

3000503
Do not accept reference to part of a racket
&

*33(.)
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e auestion
. Television
9[a Correct response Additional guidance

m

£130

Shows or implies both ~ 900 and + 3, and
carries out at least one of these calculations
correctly
&

= 1290 - 900 = 330 (error)

330+3=110
. 39043
= Digits 13(0) seen
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7]
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Food and drink

7

Correct response.

‘Additional guidance

a

m

£15s

Indicates the correct item of food and the
correct drink, ie
Pizza and juice, in cither order

Shows the digits 24(0)

/ Unambiguous indication
e
“nJ
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e-els-7}e-s|

Computation

‘Additional guidance

3 Correct response
a im| 102 or equivalent

b 1m| 95 or equivalent

< m| 1270

d im| 57
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mme Tickets

3] Comectrspome Addronsl gukdance

m| s  For the first mark, €5

t Values not rounded
Penalise only the first occurrence, even if the
notinteger part is ncorrect
e, for parts (a) and (b)

=] 6 520 0r 5.3

65(2) or 69

Mark s 0, 1
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Paralympics

[Bfecfse|
[]

Correct response

‘Additional guidance

m

m

2100

x For part (a), ~19

x For part (b), ~2100

! Responses to parts (a) and (b) transposed.
but otbenwise comect
Mark 250,1

Completes the three entries o the table
correcly,ic

15| Auwemlis | 3524

Showws the value 123 or 3824, even if in an
incorrect position

1 Abbreviation or incorect spelling of
Australia
Condone
e, aceept
< Aus
oA

For 2m or tm, 3824 rounded.
Accept 3500 0r 3820
Do not accept 4000
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S rEm Teachers
7 Corect response ‘Additional guidance

B 1m| 157860

b 1m 1350 x-1350
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[rer 8 Quesion] Using a calculator

=
Correct response ‘Additional guidance

1m| 4410

t For the second mark, anstwer given as an
mproper fraction

Accepe only if fully simplified

eg, accept

tm| 25 or equivalent

2
g, do not accept
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10.2 or equivalent

9.5 or equivalent

Additional guidance
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EmEm

Making zero

18[11[3

Correct response

‘Additional guidance

Indicates only the second statement, ie

Indicates that the other number is zero
8

.0

. Zewo

Gives a correct pai of non-zero values that add

to make zero
g
* land-1
and +45
» xand-x

 Minimally acceptable indication
e
“040
* Same

! Use of negative sign

g
.0

Condone

X Operation changed
«
* 11 ['and" crossed out]
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Using a calculator

Additional guidance

Correct response

m

m

2.5 or equivalent

For the second mark, answer given as an

improper fraction
Accept only if fully simplified

eg, accept

eg, do nor accept
105
2
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Cards

Correct response

‘Additional guidance

1 Final zero omitted
Provided this is the only error, penalise only
the first occurrence

1 Value given in pence without the
Corresponding change in wnits
Provided this s the only error, penlie only
the first occurrence

Gives a correct pair of codes in cither arder,ic
CandD

Band

a correct pair of codes, other than any

@ ™ usly credited

/ Unambiguous indication
eg, for C and D
* Digits 165 and 195
« Cand 195
cg,for Band E
* Digits 125 and 235
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EmET

25[18[ 9 Correct response Additional guidance

Lemonade

2m| s0p

or
1m | Shows the value 0.8(0)

or

Shows or implies a complete correct method with
not more than one computational error
L

" 6x120-4x 160

n (120 +4-160+ 6) x 24

u 740 error) - 6.40 = 1.00

or

Shows the value 720 or 7.2(0) and
640 o 6.4(0)
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Lemonade

Correct response.

Additional guidance

2m

80p

Shows the value 0.8(0)

Shows or implics a complete correct method with
not more than one computational error
e

" 6x120-4x 160

u (120 +4-160 + 6) x 24

u 7.40 (error) - 6.40 = 1.00

or

Shows the value 720 or 7.2(0) and
640 o 6.4(0)
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Anniversaries
[s-7]6-8]
7 Correct response Additional guidance
2002 v Unambigwous indication of year
e, for 2002
.02
, for 1960
1960 ki
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Calculations
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1m| 1891
1m 493
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1 For 1m, followthrough from their 25
Accept folow-through forthew 30 as
55— then 25
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Dishes

ol e

1m  Gives the answer 25 o 250
‘Shows the value 7.50) o 750

‘Shows o impies a complete correct method with not

more than ne computations error
e
+ 1.50+250+ 350 = 700 error)
Answer given as 3
1im  Gives a comect pair of colours, in any order ie ¥ Unambiguous indication of colour
Green and Orange. + GandO
+ BandR
o 1 Response gives costs rather than colours
o fec Pac Withhod 1 mark only for the first occurrence.
Alow costs given in pence
)
* 150and 300
2(00)and 250
* 150and 300
200and 250
Markas0,1

ol e
®
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Correct resporse

Gives four of the digts to make  correct calculation
eg

e 748215

e 5e6am1

© 949218

Gives four of the digits to mke  correct calculation
e

e bx7-22

. 7x5-35

. 9x9=81

Gives fve ofthe digits to make 3 corect calcu'ation
es

e 23a-19

. e-s-a

. %-2-2

Gives four of the digts to make 2 comect calculation
es

o 145227

. %2426

. %66

Digit cards
Addtionsl gidance

1 Zero used at the end of a number
g for the frst mark
e 248210
Pensise only the frst occurrence.

x Zoro used or card left blank at the.
beginning of a two-digit number
g, forthe second mark, do not accept
“2x3-06

x Cord e blank at the end of a umber
g, for the thid mark,do not accept
-2

* Extra digitinserted
g, forthe fourth mark, do not accept
©%e2=18
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Using tens

Correct response Additionsl guidance
+10 1 Correct operation indicated, but 10 omitted
e, for the frst mark
m +10—e-10 3
Pena se oy the frst occunence

m o+ 10— 10
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Sum of 80

Correct response Additionsl guidance

Inchcates Set A ¥ Minimally acceptable explanation

and e

‘gves a correct explanation © 6and 10seen

g © 74390 seen

o A=783nd80-74=6 * 302010 nd1,2,3,450en
B=90and%0-80= 10

* As-32-1,@andBis+1,+2. 43,44, * Incomplete or incorrect explanation
5045 only 6 less than 80, but B s 10 more =

- AsdsuptoTe
« B 10more than80

@ « Asddiupto74, Baddsupto 110
 17,183nd 19 a0 o under 20 s0 A s smaler
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‘Shows a complete comrect method with not more.
than one computational error

Y
130 x 3 = 340) emor),
10-360 = 640)

Parcels
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Correct response
£5(00)
Shows the value 22(00)
or

Shows or implies a complete correct method with not
more than one computational error

g
* 1200 error) + 9= 21.00
Answer given a5 4.00
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Additional guidance

X Instruction on the left matched to mre than
‘one instruction on the right
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‘Shows a complete comect method with not more

than one error

]

1000000 - 20 000 = 98 000 erro),
98000 +2 = 49 000

Prize money
Additional guidance

v €490k

X For 1m, one million taken to be 100000

o9
100000 - 20000 = 80000,
80000 + 2= 40000

X For 1m, computational error that simplifies
the division

o
1000000 20 000 = 800000,
800000 + 2 = 400000
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T8 Cumstion

esren
Mark Correct response

2m  Gives all four comrect responses, ie

*[<[x [

1m  Gives any three comrect responses.

True or false
Additional guidance

1 Other indication
Accept provided unambiguous. However do not
accept blank for =
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T Oumtin

Mark Correct response.
16
Puts brackets in the correct positions to make the
calculation comect, ie
2+16+@2+6)-8

Brackets
‘Additional guidance

+ Multiple pairs of brackets
Accept provided the brackets are paired and
unambiguous, even i redundant
og. accept
. 2+06+0+6)-4
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- UK population
Mark Corroct response. ‘Additional guidance
Im Gives avakue betwoen 1.5and 19 inclusive ' Equivalent fractions or decimals
1 Answer of 2
Accept i no incorrect working shown.

m  Indicates 5%, e
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‘Shows the digits 8348 and 8355 and the intention to
subtract

or
‘Shows a complate correct method with not more
than one computational error

o
* 7676+679)-0959+ 349
© 7999 + 349 = 83.82 orror)

7676+ 679 - 8355
8355-8352-3
1m  Gives the correct unit for their diference 1 Amount given without working
o g accept
* pwith7 © pwith1-%9
 Ewith @07 * £wth@01-O5
* pwith 3 error)

* Ewith (0,03 (error)
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Write numbers
Additional guidance

X One or more boxes left empty
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Calculations

Correct response

Additional guidance

m

72

m

2

m

97

26

4348
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Bl e

Weighing

2|7

Correct response.

Additional guidance

2m

12

Shows 2.4
Shows the digits 12

Shows or implies a complete correct method,
with not more than one error
&

. (5-26)+2

o 5-26then+2

a 5-26=34(emor),3442=17

 Equivalent fractions and decimals

t For 1m, necessary brackets omitted
As this is 2 level 4 mark, condone
eg, accept for Im

©5-2642

x For 1m, incorrect order of subtraction

L
©26-Sthens2





image3.jpg
[Ter & Question

[5]a-sfs-7]s o]

Buying a bicycle

6

Correct response

Additional guidance

2m

£26.89

Shows the digits 20688

Shows or implies a correct method

eg

8.62x 24 - 179.99

27 with no evidence of an incorrect method
-26.89

Digits 2689 seen

! Answer rounded to 27
Accept for 2m only if a correct method or a
more accurate value is seen

x For 2m, negative value

g
« 2689

! Incorrect onder for subtraction
Condone
eg, accept
©179.99 - 8.62x24





image4.jpg
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12

Shows 2.4
Shows the digits 12

Shows or implics 3 complete correct method,
with not more than one error

@

. 5-2642

oS- 26thens2

o 5=26=34 (erron, 34 42217

‘Additional guidance

 Equivalent fractions and decimals

© For m, necessary brackets omitted
a level 4 mark, condone

X For tm, incomect order of subtraction

o
©26-Sthens2
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Correct response

Gives a correct arrangement using cach of the
numbers 110 6 once only e for each 3 digic

number:
hundreds tens units
@
o s43e621
. 64152

Gives  correct arrangement using each of the
numbers 1106 once oly, e for cach 3 digic
number:

hundreds tens  units

5144236
o 2164534

‘Additional guidance

536 - 421 or 356 - 241

 Incorrect order of subtraction

@
.+ a21-536





